‘Ro'syﬂx School -

End-of-Year Examination 2022 .
| Mathematics - =
Paper 1
Primary 5 N
Name. Register No.
Class: Pr 5- :
Date: 27 October 2022 Parent's Signature. |

Tota! Time for Booklets A and B : 1 hour

nstructions to Pupils:

. Do not open this booklet until you are fold to do so.

Bookist A

1
2. Foliow all instrustions carefuily.
3. Shade your answers in the Optical Answer Sheet {QAS) provided.

IS

Answer alf questions.

You are not allowed to use a calculator,

Section

Maximum Mark

Marks Obtained

Paper 1 {Booklet A)

20

* This booklat consists of 7 pages (including this cover page).
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‘Ques ONs. 't' o' 10 carry 1 mark each . Questions 1710 15 ¢ carry 2 marks each
5 Far each questzon, four options are given. Ons of them is the correct answer.
E Make your chonce (1 _2_ ' 3_or 4} Sha‘de the oval {42 .3__or 4) on the Gptlcal Answer Sheet ‘

w}_ to écaie un!ess stated atherw:se

(20 marks)

o A : jSeven mﬂnon f ve hundred thousand and nme!y-sxx when wnt!en in numerais is

oy ;__7',5'00 Qéé
. @ 7050006
(3 705008
. {4) 7000506

2. Round off 6 308 057 to the nearest thousand.

(1) 000000
(2) 6300000
(3) 6310000
(4) 6309000

a. 100+40=

(1) 04
(2) 25
(3 25
4 4

{Go on to the next page)
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For every 14 boys who enter the hall, 6 girls will enter the hall. What is the ratio of
the number of girls to the number of boys in the hall?

1y 3:7
{2) 3:10
(3) 7:3
(4) 7:10

In the figure, AOD, BOE and COF are straight lines. Find £COD.
B C

F’
(1) 31°
(2) 54
(3) 77°
4y 113°

3 {(Go on to the next page)
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= Inthe ﬁgurebeow XYZss_am;f,t
zi' ,O 24" and JXZO 68";

(1) 20°
2) 44
(3) 88°
4) g

7. The solid is formed by stacking 1-cm cubes at the comer of the room. Whatis the

volume of the solid?
-

(1) 7omd

2y 8cmd

(3) 10cm®

4) 11cmd

4 {Go on to the next page)
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10.

The ratio of the number of adults to the number of children attending a party is 1 : 5.

What fraction of the people aftending the parly are children?

(1)

(2)

)

{4)

Giitds Ol G- Oil—

Express 0.001 as a percentage.

(1)
2
(3)
{4

The average pocket money of 3 boys is $24. Find the total amount of pocket money

of the 3 bays,
(1) 88

2) $21
{3) §72
(4) 3216

1%
0.1%
0.01%
10%

5 (Go on to the neit page)
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I L .Kemsha has 80 pleces of nbbons Each plets of ribbon is 1.04 m long, What isthe

ot !ength of the 80 pteces of rxbbons‘? SR

| -m_
- @
(3)

13.

4

832cm R

8v3.~2‘cm :

8320 cm

Melissa cut a pie into 10 equal p:eces She ate 3 pleces and gave a few pzeces to

3
her father. After that, "5 of the pie was leﬂ What fraction of the pie did Melissa give

to her father?
g 1
M 3
n 3
@
3
(3) T
7
(4 T

2 1
Mr Selva had 3 kg of sand. He used 3 of the sand and threw away 5 kg of the sand.

How much sand was Mr Selva left with?

(1
2)
()

4

8 (Go on to the next page)
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14,

15.

Boston has an equal number of twenty-cent and fifty-cent coins. The total value of
his coins is $14. How many coins does Boston have altogether?

(1) 20
(2) 28
(3 40
(4) 70

The figure below is made up of 4 identical rectangles. What fraction of the
figure is shaded? Give your answer in its simplest form.

M 3
@
@ =
@ 3

(End of Booklet A)
7
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_ Rosyth Schoo!
End-of-Year Examination 2022
©. 7 Mathematics - .

~ Papert
" Primary 5 -
Name: Register No.:
Class: Pr 5-
Date: 27 October 2022 Parent's Signature: -

Total Time for Booklets A and B : 1 haur

Booklet B

Instructions fo Pupils:

1. Do not tum over this page until you are loid to do so.

2. Follow alf instructions carefully,

3. Answer all questions.

4. Use a dark blue or black balipoint pen to write your answers in the space
provided for each question.

5. Do not use comrection ﬂixidltape or highiigh!ers.

8. You are not allowed io use a calculator.

Section Maximum Mark Marks Obtalned
Paper 1 (Bookiet B) 25

* This booklet consists of 8 pages (including this cover page).
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Quesiion§ 16 1o 28 carry 1 mark each. Wrile your answers in the spaces provided. |Do notwrie
For quastions which require units, give your answers in the units slated. in this space
All diagrams In this paper are not drawn to scale unfess stated otherwise.
— —_{Smarks)_
16.  Write d i ! ! G
. fite down a decimal that is greater than 3 but smaller than re Give your
answer in 2 decimal places.
Ans:
17.  Whatisthe valugof 7+3x6- 37
Ans:
, 2 27
18.  Find the value of 3 % R _
Give your answer as a fraction in the simpleastorm.
Ans:
2 {Go on lo the next page)
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Ans: Line {l Line

w7 fin this space

20.

in the figure below, find the value of Zk.

36°

Ans:

More papers available at www.testpapersfree.com

{Go on o the next page)




BP~694

cye

Questions 21 to 30 camry 2 marks each. Show your workings clearly in the space |po not write
provided for each gquestion and write your answers in the spaces provided. {in this space
For questions which require units, give your answers in the units stated.

All diagrams in this paper are not drawn fo scale unless stated otherwise,
(20 marks)

21.  Alynna wanted to muitiply a number by 20. Instead of pressing the
* multiplication sign, she pressed the division sign on the calculator. She
obtained the incorrect answer of 112.2. What should the correct answer be?

Ans:

22.  The students in 2 school take the bus, walk or cycle home in the ratio of
6:1:2. 189 students walk to school, how many students are there in the

schooi?

Ans:

4 {Go on to the next page)
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Mrs LiGW deposats $90 000 ina bank for one year The interest rate 15 2% | notwrite o
. per year. What is the total amount of money ‘she wm have inthe bank atthe |inthisspace ~ © =
endofcneyear? A S

Ans: $

24. A container of sweets was shared equally among 20 children. 4 of them
gave all their sweets1o the rest of the children. As .a result, the-rest of the
children received 160 more sweets altogether. How many sweets were
there in the container at first?

Ans:

{Goonto mé next page)
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~ 25, Measure and write down the size of v

Do not write
in this space
Ans:
26.  In the figure below, PRS and QRT are iriangles. RTS is a straight line and
QT =QR. £QTR =64°, ZQRP = 27° and £ZPST =77°. Find ZSPR.
P Q
27
77° 64°
() T R
Ans: °
6 (Go on to the next page)
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ket monﬂy some students recewe from  |Do potwiite

Tb’e bar graph shaws ’me ﬁatiy poc
5 in this space

B thefr par nts 5 of these studentsv 'ecewe $2 50 for therr pocke; money

L daﬂy Draw the barthat showsth : gmbe( o__f students who receive $2.50
e far the:r pocket money daily. " - ' T

B P L L

- e e e W et W W WM e W e e e ke we Y

$2.50 53 . $3.50

n Daily Pocket Money-

{Go on to the next page)
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b
o

2. The figure shown below is made up of square ABEF and rectangle BCDE. | po ot write

FD =20 cm and AF = 8 ¢m. Find the area of the shaded triangle ADE. in this space

A

B C

8 cm

20 cm

Ans: em? i

29. A rectangular container is filled with water to a depth of 14 cm. Hannah pours
another 1.05 litres of water into the container. How much water is there in the
container in the end? Express your answer in litres and millilitres.

/|

14 om

s et v B

20 cm

Ans: s ml

8 {Go on o the next page)
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e e o . BP~§99

. |conotuiite |
. inthis'space - -~

g

T e ]

Ans: °

End of Paper
Have you checged your work?
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Name:

Rosyth School

Primary 5

Ciass: Pr 5.

Date: 27 October 2022

Time: 1 h 30 min

End-of-Year Examination 2022
Mathematics Paper 2

Register No.

Parent's Signature:

Instryctions to Puplls:

Do not tum aver this page until you are told to do so.
Follow all instructions carefully.
Answer all questions.

Use a dark blue or biack ballpoint pen to write your answers in the space

&GN -

PAPER 2

provided for each question.
5. Do not use comection fluiditape or highlighters.
6. The use of an approved calculator s aflowed,

Questions Maximum Mark Marks Obtained
Q1to5 10
Q61017 45

Section Maximum Mark Marks Obtained
Paper 1 45
Paper 2 55
Total 100

* This booklet consists of 14 pages {including this cover page)
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ach. ho 'cfea y in tha péte*ff oonm views,

'Ques’ncms 1 to 5 carry 2 marks
mthxss;r,,c,'._._

provided for gach question. -and write: your aﬂswers in: the spaces prowded Far
questions whlch reqwne un;ts gwe your answers in the mts stated v R
R : (10 marks) cn

1. Ashaded mangie is drawn ins:dera*:' tangh
below, F“nd the area of the shaded_tnangle

Ans: cm?

2 {Go on to the next page)
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2.

The table below shows the parking charges at a shopping mall. Do not write
in this space
. Hours - Charges
18t hour or part thereof $2.80

Subsequent 30 minutes or part thereof

$0.90

Mr Wong parked his car at the shopping mall from 5.45 p.m. to 7.55 p.m.

How much was his parking charges?

Ans: $

Sam had $340 more than John.

Darial had wice as much money as Sam.
The total smount of money that Sam and Daniel had was $1230.

How much money did John have?

Ans: §

(Go on {o the next page)
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4.  Daryfand James spen’t an average of $12 20 on then' dmner Daryf spent y Ds’ notwiite - o
$2.40 iess than Jarnes how much did James spend on his dmneﬂ ... {mnthis space’

Ans: $
5. The figure is made up of 3 triangles.
Find the sumof za+sb+/¢c 4+ 2d.
N\
73°
b S
P c
Ans: °
4 {Go on to the next page)

asn
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For Questions 6 to 17, show your working clearly in the space provided for each Do not write
question and write your answers in the spaces provided. The number of marks in this space
available is shown in brackets [ ] at the end of each question or part-question.
For guestions which require units, give your answers in the units stated.

(45 marks)

All diagrams in this paper are not drawn to scale unless stated otherwise.

3
8. Mdm Ong had some sugar. She used 7 of it to make lollipops. She then

2
used z of the remainder to make muffins. 210 kg of the sugar was left.
What was the amount of sugar that she had at first?

Ans: 3

7. The figure below is made up of 3 different triangles, ADE, ABD and BCD.
ADE and BCD are isosceles triangles. £DAE is 37° and ZBAD is 63°.
EDC is a straight line.
Find £ABD.

Ans: i3] |

5 (Go-on to the next page)
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8. Atafunfair, the ratio of the aumberof children to the number of adults. | Don
- - was 4.::9, The ratio of the boys to the number of girls was3:4.There
. was a total of 84 girls. How many aduits were there altogether? =~~~ -

Ans: 31

9. Aboxwith 9 identical ring files has a mass of 2kg 2 g.
The same box with 14 such ring files has a mass of 2642 g.
What is the mass of the box? Give your answer in kg.

Ans: 31 1

8 {Go on to the next page)
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10.

4 identical right-angled triangles were cut out from a piece of square Do not write
paper. The piece of square paper has an area of 64 cm?2. in this space
The 4 right-angled friangles were used to form the shape as shown below
on the right. The perimgter of the shaded rectangle formed is 20 cm.

Find the area of the shaded rectangle. '

Square Paper

Ans: [3]

7 (Go on to the next page)

More papers available at www.testpapersfree.com

BP-~707




IR L

; James had a rectangular contamer mnasunng 55 cm by 28 cm by 24 cm. PC; ;301 wiite
R g in this space
- it Was ~ﬁﬁed thh water. James then poured out -of the water How much S
o .water remamed m - _eﬂccntamer’? Leave your answer in litres and mzmhtrns
24 cm
28cm
55cm
Ans; 4
8 {Go on to the next page)
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12.  Ahmad spent $112 for 5 identical books and 5 identical pens. The cost of Do not write
4 pens is the same as 3 books. What is the cost of 1 pen? in this space
Ans: [4i
9 {Go on to the next page)
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yS at an average cost of $12. She then | Do notwrits
Wing two toys and the average cost of all -~ |inthis space

(@)  How many toys did she buy in total? -

Ans: (a) 3]
(b)  What was the iotal cost of all her toys that she bought?

Ans: (b) [1]

| 10 {Go on to the next page)
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14,

There were 25 similar cones that are placed at equal distance along a
straight road. The first cone was placed at the start of the road and the 25%
cone is placed exactly at the end of the road as shown below. The length
of the base of each cone was 0.3 m and the distance between 2 cones
was 8m.

18t cone 2 3¢ 25" cone

4
U, AR

§ Road

(@) Find the length of the road.

Ans: [

(b) 4 of the cones were removed and the rest of the cones were
rearranged at equal distance from one another with the first cone
placed at the start of the road and the last cone at the end of the
road. What was the new distance between each of the cones?

Ans:

3]

Do not write
in this space

11 {Go on to the next page)
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Donoi wiite.
m this space

o and black beans in a {in. 28% of the beans i
SRR the tin ‘are red. T_he_ratlo 0 he number of the green beans tothe number o
L afk black beans is > are 468 -

Ans: {4]

12 (Go on to the next page}
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16.  The 2 tables below show the delivery fee for parcels of 2 different
companies, Fast Express and SaSamoveit.

The delivery fee is made up of 2 parts, a service fee and a fee based on

distance.

Do not write
in this space

Company

Service fee

First 5 km

Above § km

Fast Express

$9

$1.20 per km or
part thereof.

$0.70 perkmor
part thereof.

Company

Service fee

First 3 ki

Above 3 km

SaSamoveit

$12

$1 perkmor
part thereof.

$0.45 per km

or part thereof.

(@) Mrleewants to send a parcel from RH School to NR School
which is 4.4 km away.

What is the delivery fee he needs to pay if he uses SaSamoveit? -

Ans: {a)

(b)  Mrs Wen wanis to send a parce! from her house to her friend’s
house which is 8.7 km away.

(i Which company should she choose to save money? Circle the
correct company.

Fast Express {

SaSamoveit.

1

{ii) How much will she save when she uses the cheaper company?

Ans: (bii)

g

(2]

13

{Go on to the next page)
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17 Eddxe had some engme oﬂ He sofd 5 of hlS engme od on Manday Hev e

. 4 :
then sofd 5 of the remamder and an extra 340 htres on Tuesday On

Wednesday, he so!d ~ of the, remamder and an extra 200 litres Eddref SO .,'5:‘:.;:- =

then kept the rema!ning 1260 Jitres of engme osl for mmself How much‘ S R
engine oif d:d he have at first? _ e

'm thxs space o .

Ans: [5]

End of paper
Have you checked your work?

14
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COYEAR i 2022
 LEVEL : PRIMARYS

o SCHOOL : ROYSTH SCHOOL
o ;_';,;SUBJE '
. TERM..

CT MATHEMATICS . K
END DF YEAR EXAM!NAT!ON

1(o0iieTA) -

Q7 1) @2 4 | 03 2 a8 3
Q6 | 1 Q7. | 4 Q8 | 3 | -Q9 |- qio| |-
Q11 £y Q12 | 1 | Q13| 2 | Q4 Q15| |
{BOOKLET B}
Q16 |0.23
Q17 | 7+3x6~3
=7+18-3
=25-3
=22
Qig | 2% ,27 54
9 8 72
_3
T3
a 8 72
3
=3
Q19 | Line AF//LineCD
Q20 | K:360-36~90
=270 - 36
=234°
Q21 | Original 1 112.2 x20=2244
Correct answer ; 2244 x 20 = 44880
Q22 IB:W:C
6:1:2
6+1+2=9
189x9=1701
Q23 | 90000 x 12 = $91 800
Q24 lchlldren 160-:—4-:40
total : 20 x 40 = 800
Q25 | 43°
Q26 | PRS:64-27=37
SPR:180—77-37 = 66"
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Qz7 - e ———.
Q28 |ED:20-8=12
ADE : 12 x 8 x ¥ = 48cm?
Q29 | 14x 20 x 10 = 2800
2.8 +1.05 = 3.850
32 850m!
Q30 |Y:180-70-90=20
X : 90 — 20 ~ 20 = 50°

More papers available at www.testpapersfree.com
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S _jf--;'Y:EAR' 1 zozz g

. LEVEL .: PRIMARYS

" SCHOOL: ROYSTH scnom

- .,susxscr ‘MATHEMATICS - -
,',I;_"TERM “END OFYEAR EXAMINATION |

2

Q1. 1 A: 45xas+14)x% 900

I B:25X26X%=325
[ C:14X (25 + 45+ X % = 490
| shaded triangle : total (45 + 25) x (ze +14) = 2800
| 2800 ~ 900 — 325 - 490 = 1085 cm”
Q2| Total ~2.80 + 1.80 + 0.90'= $5.50
Q3 |u:1230+-3=410
john :410- 340 =870
Q4 | Total:12.20x2=24.40
2u:24.40 -2.40 = 220
u:22 +2=11
James : 11 + 2.40 = $13.40
Q5 |a+b=180-73=107
d+c=360—73=287
total : 107 + 287 = 394°
Q6 u:210+3=70
5u:70x 5 =350
u:350+4=87.5
7u:87.5x 7 = 612.5kg
Q7 | X:{180-37)+2=715°
Y:180~52 - 71.5 = 56.5
ABD : 180 - 63 ~ 56.5 = 60.5°
Qs C:A
4:9
28:63
B:G:Total
3:4:7
12:16:28

u:64+16=4

adults : 63 x4 =252

Q9 | 9r+1b=2002g

14r + 1b = 2642g

14-9=5

5 ring files ; 2642 ~ 2002 = 640
lringfile: 640 +5=128
9ring file: 128 x 9 = 1152

1 box: 2002~ 1152 = 850
850g = 0.85kg
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Q10

[ 64cm”=8x8
iL+b:20+2=10
4:10+5=2
area:4x6=24
length:3x2=6
breadth:2x2=4
6 X 4= 24em?

Qi

Volume : 55 x 28 x 15 = 23100
Remaining : 23100 x % = 17325
17325ml = 178 325m

Q12

4p=3b
3
Sp = 3zb .
1 book: 112 + 8; = 12,80

3 books: 12.80 x 3 = 38.40
1pen:38.40 ~ 4 =$9.60

Q13

a) |cost:28+10=38
38-28=10
Iu:il0+2=5
5+2=7

{
!

b) 12x2=24
38-24=14
14-12=2
i4+-2=7
14x7 =598

Q14

a) |03x25=75
8x24 =192
192 +7.5 =199.5m

b) | distance : 199.5 ~ {21 x 0.3)=193.2
| new distance : 193.2+ 20 = 9.66m

Q1s

R:G:B:Total

8:1
28:64:8:100
difference : 64 - 28 =136
1u:468 + 36 =13
red beans: 13 x 28 = 364

Qis

a) 3km:1x3=3
| 1.4km : 0.45x 2= 0.9
| Total : 0.9 + 3 + 12 = $15.90

b} | (i)SaSamoveit

; {ii} {Fast Express) 5km-1.20x5=6
3.7km:0.7x4=2.8

total :6+2.8+8=17.80
{SoSamoveit) 3km:1x3=3
57:045x6=2.7

total :3+2,7+12=17.70
(bii)$0.100 '
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| % 1250+2ao 1460 LT
: Wednesdav 1460)(2 2920 o

| 2+2920- 340 3160 o

' {Tue‘ ay 13260 9/5= 5868

ftotal 5868x3/1 176043
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